Example 3: Translate this argument to symbolic form and construct the truth table and deternune 1f 1t 1s a valid
argument or not. @

@ﬂ:&u the concert will be delayed

The concert was delayed, therefore 1t ramed.
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Example 4: Translate this argument to symbolic form and construct the truth table and determune if 1t 1s a valid
H.I'gllﬂlEﬂt or not.
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If you nuss the final exam, then you will get a zero for the exam

~

If you get zero in the final exam then you will not pass the course.

You did not miss the final exam, therefore you will pass
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Example 5: Translate this argument to symbolic form:
r — i V t

The alarm will sound 1f and only 1f smoke or carbon monoxide 1s 1n the house
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There 1s no carbon monoxide in the house
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Therefore, the alarm will sound 1f and only 1f smoke 15 in the house
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